
QUIZ 4  MATH 260  NAME________________________ID_________________SECTION___________ 

Q1. Verify that )2/3( xxe  is solution of .0)4/9(3  yyy  

Q2. },{ 43 xx ee are complimentary solutions of the differential equation .0127  yyy  Are these solutions linearly 

independent? 

Q3. Find general solution of 096  yy . 

Q4. Find general solution of 09124  yyy . 

Q5. Find general solution of 025  yy  

Q6. Using given solutions in Q2, of the differential equation ,0127  yyy  find a particular solution satisfying 

,2)0( y and .3)0( y  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


